Subskill #
Sequence and Unknowns I

For questions 1 through 7, use the pattern to determine what the next number should be.

1.
 5, 7, 9, 11, __


A.  12




B.  14


C.  13


D.  15

2. 
46, 43, 40, 37, __

A. 35

B. 33

C. 36

D. 34

3.
8, 10, 13, 17, __

A. 22

B. 23

C. 19

D. 34

4.
a, ac, cd, de, __

A. fg

B. ef

C. df

D. gh

5. 
-2, 3, 7, 10, __

A. 9

B. 12

C. 13

D. 14

6.
4, 6, 5, 7, 6, 8,__

A. 9

B. 7

C. 10

D. 11

7.
5, 10, 7, 14, 11, __

A. 8

B. 22

C. 28

D. 12

For questions 8 and 9, use the tables to determine the next numbers.

8.

	0
	2
	4
	6
	?

	1
	0
	-1
	-2
	?


A. 9, -4

B. 8, -4

C. 8, -3

D. 10, -3

9.

	3
	-4
	5
	-6
	?

	-6
	8
	-10
	12
	?


A. –7, 14

B. 7, 14

C. 7, -14

D. –7, -14

For number 10, which equation describes the relationship between x and y?

10.


	x
	0
	1
	2
	3
	4

	y
	2
	4
	6
	8
	10


A. x = 2y
B. y – 3 = x
C. y = 2x + 2

D. y = x + 5

The following table represents the cost of renting a bicycle.  Use the table to answer questions 11 and 12. 

	Hour
	$

	1
	5

	1.5
	6

	2
	7

	2.5
	8

	3
	9


11.   How much would it cost to rent a bicycle for 4.5 hours?

A. $12

B. $10

C. $13

D. $14

12.   How much would it cost to rent a bicycle for 6 hours?

A. $13

B. $15

C. $16

D. $14

13.   Using the following equation, what would the next two numbers be?

y = x2 = 5


	x
	-2
	-1
	0
	1
	?

	y
	9
	6
	5
	6
	?


A. 2, 9

B. 2, -9

C. –2, 9

D. 2, 7

For questions 14 through 16, choose the equation that means the same as the underlined sentence.

14.
A number increased by 8 is equal to 39.
A. 8x = 39

B. x – 8 = 39

C. x + 8 = 39

D. x/8 = 39

15.
A number plus nine is less than 15.
A. a – 9 < 15

B. a + 9 < 15

C. a - 9 > 15

D. a + 9 > 15

16.
The circumference of a circle is equal to twice pi times the radius.
A. C = r(
B. C = 2(r

C. C = 2 + (r

D. C = 2(
Answer Key

1.  C

2.  D

3.  A

4.  B

5.  B

6.  B

7.  B

8.  C

9.  C

10.C

11.A

12.B

13.A

14.C

15.B

16.B
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